Question Bank

B.Com Part- 1 (General)
Subject: Business Organisation
University Department of Commerce
And Management
B.R.A.B.U, Muzaffarpur

Multiple choice Question - ( sgfdeeda ge=)

Money Market deal in - (=T 9T9TR Sa8R HRAT &) —

a)  Short-term funds (3TeudTele BIN)
b)  Medium-term funds  (Heu@TE ®IV)
c) Long-term funds (ETERTeA BIY)

d)  None of these (ETH & P )
Capital Market deals in - ({S a9k @aER BT 2)—
a)  Short-term funds (STeTaTele BI)

b)  Medium-term funds (AIBIAT BIY)

c) Long-term funds (ErepTel BIy)

d)  None of these (ETH 9 ®Ig 7))

Creates liquidity - (q=erar &1 AT St 8)—

a)  Organised Market GUISEICISIN]
b)  Unorganised Market (3 ETed 99R)
c)  Primary Market CIPIECACININ)
d)  Secondary Market RINECISIN

In new issued shares deals - @@= fifad sz & @aER &A1 8)—

a)  Secondary Market (FIToT IOTR)

b)  Primary Market CIZIECAEININ)

c)  Secondary and Primary Market both (Ffior a/oiR e wrrfie iR
<)

d)  None of these (F 9 B3 7TE)

Legally SEBI was established in - (@enfe wu # JdT @1 w9+ g ofl)—

a) 1988
b) 1990
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c) 1992
d) 1994

Stock exchange protects the interest of- (&p= fqufr f2a &1 gRem o=l 2)—

a)  investor \BENED)
b)  company (@¥)
C)  government (ARPR)
d)  Noneof these (f&¥i @1 %))

The future of stock, exchange in India is- (WRa # W= fauforEl &1 widsy
2)—

a) Bright CRSER)
b) InDark (3R #)
c)  Ordinary GIGIR)!

d)  No Future (@I 9fosy =78)
Head Office of SEBI is in - @& &1 &1 sRfad ©)—

a)  Delhi (Fareet)
b)  Mumbai (g=3)
c) Kolkata (PTeTepTar)
d)  Chennai (T13)

For stock exchanges the services of SEBI is- (ke fauforal & forg el o
SL

a)  Voluntary (Us®)

b)  Necessary (3TereTn)
C)  unnecessary CIBIEERED
d)  Compulsory (arforam)

The foremost stock exchange was established in - (fGva % We¥1 Ugel wh
fqufor @1 o g8 o)

a)  Delhi (faeet)
b)  London (eTv<T)
c) America (e
d) Japan (STTaT=)

The first stock exchange in India was established in- (=Ra # \a9 Ul
wheel faqufor @1 e g3 o)
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a) 1857

by 1877
c) 1887
d) 1987

The number of stock exchange in 2004 was- (@ 2004 # ARd & hel
fauforl @ < of)

a 20
by 21
c) 23
d 24

Regional office of SEBI is situated in- (&€ &1 &5 wrae™ Rd g)—

a)  Delhi (Feeeet)

b) Kolkata CAGEARY)

c)  Chennai (Tr13)

d) Allthesethree (g7 @i wre)

Primary and Secondary Markets- (Ureiffe ud fgcdiae areiR)—

a)  Complete with each other (Th—gaR I ufeRug! B 2)
b)  Complement each other (TH—HN DI AEAN < B)
c)  Function independently (F@Ed ¥ ¥ B A )

d)  Control each other (Tr—R &1 Faf=a &Ra )

Total number of stock exchange in India are- (WRd H g1 Tl YTl
(TR 9TOTRY) &) A= 8 [)—

a) 20
by 21
c) 22
d 23

The settlement Cycle in NSE is- R IR 919iR @1 e (SER i)
Tqh B)—

a) T+5 & + 5)
b) T+3 & + 3)
c) T+2 & + 2)
d T+1 @+ 1)
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National stock exchange of India was recognized as stock exchange in the
year- (R IR IRR IIoIR Bl ICfd Jaaddl (IR IR & ©T H AT
foa av ¥ faen off) ?

a) 1992
b) 1993
c) 1994
d 1955

NSE commenced futures trading in the year ? (T9. T4, §. & 9l UR &
geala b a9 # gg)?

a) 1999
b) 2000
c) 2001
d) 2002

Clearing and settlement operations of NSE is carried out by ? (T 4. 8.
@ e vd fRueRT fhardery fhas gRT a8d fHd o 8) ?

a) NSDL (T, v, <. ve)

b) NSCCL (T, . <. Al e
c) SBI (T 41, arg)

d) CDLL (@) <. ve. ve)

OTCEI was started on the lines of- @1 <1 1. §. 3. &1 UR™ fhdqd! aol
TR BRIl o) ?

a) NASDAQ (RTS)

b) NSYE (T7. T4, 918, §))
c) NASAQ (TTeP)

d) NSE (TF. v 8)

To be listed on NSEI, the minimum capital requirement for a company is
- (@ & <A £ e (OTCEN) # gdiieg 8F & ford fhaeit =paw doi @
JMaTTHAT 8) ?

a) Rs.5Crore (® 5 B /R

)
b) Rs. 3 Crore (® 3 PRI W)
c) Rs.6 Crore (% 6 DIIS TI)
d) Rs.1Crore (® 1 P W)

Treasury bill are basically - &</ fdat Hera: 810 8)—
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a)  Aninstrument to borrow short-term funds (Erea@Ters wre IER &
)

b)  Aninstrument to borrow long- term funds (@rei@ifors wre IUR &
JuH)

¢c)  Aninstrument of Capital Market (ST 9NTR &7 U 997)

d)  None of the above (Suad |8 1 T2)

REPO is (I 7)—

a)  Repurchase agreement (qrReie FHsian (faera) )

b)  Reliance Petroleum (Rema=1 ugiferaH)

c) Read and Process (e Trs uee)

d)  None of the above (Swja & 1 T2)

The greatest handicap of a sole trader is - (T&H@! AR & FEG TSI BicTs

=)

a)  Small size (BICT JMHR)

b)  Limited Capital GUESRSD)

c)  Unlimited liability CRIGERSIRT)

d)  None of these (T 9 B3 7TE)

The liability of a sole trader is limited to the extent - (Yerah! <TURY 7

TR A grar 8)—

a)  Capital invested by him (D ERT 15 g Yoil @1 HHAT dh)

b)  Value of the assets of the business (Fadra 4 F=fadl & qea & AR
RED

¢)  Value of the business as well his all Private assets (T &
ARI—ATT D! il Frfcadl & 1 Jed &I AT dh)

d)  None of these (ETH 9 ®Ig 7))

Sole proprietorship form of business organisation is not suitable for the
business which - (@@ G169 &1 UdhTd! Wifid ®9 39 Jqad & folg

SUgT TE )

a)  Requires little Capital (=T oI1ST Yol @ smaegdhn =)

b)  Requires personal attention to the customers  (Rr+ uEdl @ ufd
T &9 < BT MaeTHal Bl 8)

c)  Areof large size (ST S AMMHR & ©)

d)  None of these (54 | PIs TT2))

Sole trading is the best when - (v MR HaicH & od)—
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a)  Requires little capital

(@F TS @ SawIdar &)

b)  Requires large capital (a1feres gSh @1 SmavIddr 2)
c)  Capital is not required (ST &1 ATaeIHT el ©)
d)  None of these (T8 9 ®Ig 8))

Scope of sole trading -

(T AR BT B &)

a)  Limited (Hfaa B)

b)  Unlimited (erAIfAaT B)

c) Wide (@TI® B)

d)  None of these (ETH 9 ®Ig =)

The future of sole trading in India - WRA ¥ THETHT AUR & WiIS)—

a) Dark (EraeR #H )

b)  Bright SENEERS)

c)  No future (@18 wiasy &l B)

d)  None of these (T8 9 ®Ig 7))

In sole trading - (T@T®! AR #)

a)  full secrecy (T MR )

b)  no secrecy (M=rgar T8 7)

c)  secrecy is nominal (ORI A @7 R)
d)  none of these (ETH ¥ oI5 2))

What is not the characteristic of a sole trading business- (Tore! =gadriT &1

faerear 1 T8l 8)?

a) Itis owned by one person

b) It has separate existence from its owner

3T I )

c) Itwhole profits belongs to the sole proprietor

UhHTdh] ITHRT BT Il 7)
d)  None of these

(SHPT W@TH TS Ffda gial 8)
(ST R U= W A

(3HPT ART o9

(& & BIg )

Sole trader is that who- (v@ra! @muRT 98 & 1)

a) Isthe owner of all assets but does not takes entire risks (e
Frfcadl &1 Aifeld BT & fheg 9RT SIRgd 781 IS )
b)  Takes entire risk but does not the owner of all assets GRE]

SIIRIA SOTdT & R AR AHfocrdl & T =8} 8Ian)
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c)  Takes ownership of all assets and takes entire risks (qeed
Tfeadl &7 Alfetd Bl & AT ART SIREH SSTdT ©)

d)  None of these (ETH 9 ®Ig =)

Which of the following is not governed by a specific act-
(M1 5 DIF— | 9169 R Big fafre sifaftrm arp w8l &)

a)  Sole proprietorship (Tl Tarfic)

b)  Partnership GIEEARY)

c) Company (H¥=T)

d)  Co-operative Society GEEINESIEIR))

'Profits do not have to be shares'. This statements refers to ..............
("™ BT d<aRT Tl fhar Sar” T8 BAA ... gaTaT 2 1)

a)  Sole trader (ThThT TYR)

b)  Partnership GIEERY

c)  Joint Hindu family (Fgad fa=g alRanr)

d)  None of these (T8 9 ®Ig 2))

................. is not a feature of Sole trading- (........... Y&T®! AMR &I fa=mEdr
T8l 8)

a)  unlimited liability (erenfaa <)

b) limited liability GUESECIRRS))

C)  secrecy RIESIEE))

d)  none of these T A D8 7))

................... is not advantage of sole trading- (.............. T®I®T & A &)
a)  unlimited liability CRIGERRAIDE))

b) easy formation (RATIAT H FITHCT)

c)  quick decision (=frer foyot)

d) all of these (e )

'‘One man control is the best in world'. This statement shows the

importance of. (v wfad &1 fra=or fawg # Adsrs 217 a8 Hod fhasr Agq
P AT 2 1)

a)  Sole trade (ThThT YR)
b)  Partnership GIEERD
c)  Joint hindu family (gt feg aRaR)

d) Company (H#=T)
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The simplest form of business organisation among various form is-

(TS e & WHUl | T a9 ARl 6wy 8)—

a)  Partnership

Ram is a sole trader who wants to expand his business. He should appoint

b)  Sole Trade

c) Joint Hindu Family
d) Company

a

a)  Manager

b)  Partner

c) formacompany

d)  Owner

Partnership is formed as a result of
(TSGR B ATIT heRawy Bidl 8)

GIEEED

a)  License from government (RER B A3H~)

b) A central legislation (g o)

c) Anagreement among Individuals (afedal & = T+t

d)  None of these (T4 ¥ P 2

A Partnership deed - (TP AEERI Held)

a)  Awritten legal Document U faRad &L A ©)

b) A verbal understanding (T HiRgd® FHSIT ©)

c)  Not enforceable by law (@ IR R AR 81 fhar 51 |dan)
d)  None of these (ETH & DI =)

Partnership may come into existence- (ATseRT iR H 3 Al ©)—

a) By the operation of the law
b) By anagreement

c) By Inheritance of Property
d)  None of these

@9 & gaa+ gr)
CERISEEINEEAN))
(Tfd @ SAIRHR gR)

(F™ ¥ P e

A manager with a share in the profits- (@1 e a1 o™ H =1 7)

a) Isonly a Servant of the firm

(®ad BH BT HHART B)
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b)  Becomes a Partner by the operation of law (&~ & ada g=T
TSGR 99 AdhdT ©)

c)  Becomes a partner from status (Refr & HEIGR 99 SI7@T ©)
d)  None of these (T8 9 ®Ig )

Liability of partners in respect of the firms debtis - (# & ol @& Fw=
H AEeRI &1 S1fi)

a)  Limited upto the amount of their capital in the business (g
H T Yol 1 I a AR ©)

b)  Unlimited (erifaa )

c) Limited upto the amount of guarantee given by the partner (FEER
@ ERI 1 T8 RS HI AR d6 AT 8)

d)  None of these (ETH & P )

The maximum number of partners in a firm for a general business is-
(AT a9 @ foly BH H ARIERI @ STfihad deET B)

a b5

b) 50
c) 20
d 10

The maximum number of partners in a firm carrying on banking business
iS- (ST =y § ot B9 H AEER! B AfHaH G ©)

a b5

b) 10
c) 50
d 20

The liability of partners in a firm is- (®H # ¥=RRI &1 @ )

a)  Limited ()
b)  Unlimited ERIER))
c¢) Equal CNEN)

d)  Proportionate (

:

)

Registration of partnership is- (AT=ITRI &7 USRI SR ©)

a)  Voluntary sz
b)  Compulsory (sifari)
c) Essential CIEESED)
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d)  None of these (ETH 9 ®IE 2))

A partner whose association with the firm is unknown to the genral public

iscalled ........... - (UH AR e BH 9 99 & R | ST
AMIRFAT B oo BEATT )

a)  Active partner  (dfa AREIER)
b)  Sleeping partner (Y« HEIER)

c) Nominal partner (FF—+H AERER)
d)  Secret partner UISESIEE)

In the absence of partnership deed the duties and rights of partners are
determined- (AEIERI WoRkg & 39T H ASERI @ JWBR U daed FEiRd 81
2)

a) By partners GIEENECN))
b) By court (RITe & gI)
c)  Under partnership Act (AERRT IfAFRM & HR)
d) By Mutual concept (CIERIIGESIRE)

Equity Shareholders are called-  (@¥dr 3ferenRal &1 &1 %1 ST ©)?

a)  Owners of the Company (@il & w@r)
b)  Partners of the Company (F & HAEER)
c)  Executives of the Company (&I & 31&rwrR))

d)  None of these (T4 | PIs TT2))

Trade credit is the example of ............. (TR AT ... CARSHESYI
g )

a)  Long-term finance (EreeTel faw@)

b)  Medium-term finance (A BTl faed)

c)  Short-term finance CEIRIERERS))

d)  All of these (e )

Internal sources of Capital are those that are ............. (S & SRR
AT TE 8 M oo )

a)  Generated through outsiders (@T8g AN 9 U 81 ®)

b)  Generated through commercial banks (@rfofsad daf 3 U 8 )
c)  Generated within the business (@a™ & <3 & IT B 2)
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d)  None of these

Shareholders of a company are -

a)  Owners
b)  Creditors
c) Debtors

d)  None of these

(&4 & B3 )
(@ & ST B ©)
)

i3

)

i

)
g | BIg TEN)

-

Debenture holders of a company is (G¥at &7 Foro=aR! €T 8)

a)  Debtors
b)  Creditors
c) Owners

d)  None of these

i

)
)

1]

)
TH | DY TEN)

-~

Payment of dividend on shares is (3@ 9= amrer <1 8)—

a)  Compulsory
b)  Voluntary

c) Both (a) and (b)

d)  None of these

Loan given by commercial bank

Il ©)—

a)  Short-term
b)  Medium- term
c) Long-term
d)  None of these

:

)

7

)
) Td (@) =)
T W PIE TE)

6

-~

(@O dai gIRT AT ST arar 0]

:

( )
( )
CEEIEIE)
(ET 9 PIE )

|

Finance received on the issue of share is- @l & 779 W U@ fad 8)

a)  Short-term
b)  Medium-term
c) Long-term
d)  None of these

%

)
)
(SreiepTei)
(ET | Pz TE)

:

Payment of interest on debentures is (FEo—u=l R &1 I 8)—

a)  Compulsory
b)  Voluntary

c) Both (a)and (b)

SINEIR)

(o)
(31 Td ‘g qM)
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d)  None of these (ETH 9 ®IE 2))

The rate of dividend on preference shares is- (q@ifdR 3= W ™ <
Il ©)

a)  Certain \BIEES))

b)  Uncertain RIBIEEE)

c) Both (a)and (b) (31 wd ‘9 Q)

d)  None of these (T8 9 ®Ig )
The kinds of shares are- (32T & UBR BT )
a 4

b) 3

c) 2

d 5

Risk involved in preference shares is- (q@iffaR @i # SRaq Bkl 2)

a)  Maximum CIEEZE)

b)  Minimum (=)

c¢) Normal (ATHT)

d)  None of these (T4 | PIs TT2))

The risk involved in equity shares is- (FTHT=g 3N | SR & AT Bl
8)—

a) Maximum (rferenaH)

b) Minimum (=)

C) Normal (|THT)

d) None of these (ST | PIs TT2))

International source of finance is (fAciTHRT BT IR ATRH )

a) ADRand GDR (ADR td GDR)
b) FDI (FDI)

c) Bothaandb (31 g ‘g 3M)

d)  None of these (ETH | oI5 2))

FDI means- (FDI %1 amerg 8)—

a)  Foreign Direct Investment  (fa<=h yxver frawn)
b)  Free Direct Investment (Fr:3e ucaer foraen)
c)  Forestry Deposit Investment (5= e fa=)
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d)  None of these (ETH 9 ®IE =)
GDRis  (GDR & 8)-

a) InIndian Currency (TR HaT H)
b)  InPound (dfvs #)

c) InDollar (Ster #)

d)  None of these (T8 9 ®Ig )

In rural, backward and hilly areas, special financial assistance is provided
by- (umivr, fUes e verel &aF 4 faftre fawi Jerdr ue™ ol ©)—

a)  Money Lenders (AEPR)

b)  Commercial banks (@mR& d9b)

c)  Regional Rural Banks (=g T d)
d)  All of these @ )

g)?

a)  Owners of the Company (@t & war)

b)  Partners of the Company (@ & AEER)
c)  Patron of the Company (HAT & ARED)
d)  Managers of the Company (&7 & ua~era)

Finance received on the issue of shares is - @il @& 7T R ud o 8)—

a)  Short-term (3TeqhTel)
b)  Medium-term (AT dTet ™)
c) Long-term CIEEIRIE))
d)  Very short-term (31fcr 3reudnTel)

The father of scientific management was- (@& a7 & <@ o) ?

a)  Gilbreth (Rretsen)

b)  Taylor (CeR)

c)  Robertson NECNE))
d)  Watson CIEAE))

Product in scientific management is- (@si<i& U= H IIGA BIAT ©)—

a)  Maximum
b)  Minimum
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c¢) Normal GBI
d)  Average CINE)

By scientific Management working hours of workers are- (@& uaeear &
APt & PRI B TSl H B B)—

a)  Increased (af<)

b)  Decreased ()

c)  No effect (PI T 8))
d)  Average (3fTa)

The essence of scientific management is - (I~ Yavel &1 ATEN ... 2)

a)  Mental revolution GIGISECAIEN)

b)  Remuneration (aTiRs1H)

c)  Not mental revolution GIBISEAEAREGE))

d)  All of these (Sua )

Scientific management .............. workers remuneration. (IT_E gawT
A AR & IIRSINS H o gl ©)—

a)  Increases (gf<)

b)  Decreases (@)

c)  Both (cT)

d)  Neither increases nor decreases @ gfg =T o)

The scientific management is ............. Of workers. (d=f<ie Yawer
THARY B o 2)—

a) Infavour (Ter #)

b)  Against (ferger +)

c)  Both (cT)

d)  Helpful GEBED)

In the beginning scientific management is .......... by workers.
(I ¥ sl gRT dSTdl UawT BT ... foar ST 8) —

a) Favoured (e

b)  Opposed (forren)

c) Both (ar)

d)  Helpful (weT)
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When was scientific management introduced ? (@sf<e ya=e &9 UR™
gem) ?

a) 1913
b) 1832
c) 1903
d) 1920

New economic policy was declared in (Fd= amfefes <ifr =ifya gg o)

a) 8 July 1990
b) 12 July 1992
c) 6 July1991
d) 6 July1990

Main components of new economic policy are- (g affie ifd & yq 3T
gl) -

a)  Liberalisation (SERTHR)

b)  Globalisation CEIEa))

c)  Privatisation (BNICa)

d)  All of these @ )

Business environment does not help (am@@r® ardreRor ... Pl A
el BT B)—

a)  Threats (ae)

b)  Opportunities (3Ta¥R)

c) Resources SRIEE))

d) Certainty (frgeare)

Formation of programme is essential for scientific ................

(@TIHH BT IR MaRIH € ISP ... & for)
a)  Planning \RRISE))

b)  Management (EER3))

¢)  Organisation GREE)

d)  Control (fFrerrom)

Organising process involves (de+ ufsear & ffzd 8) —

a)  Grouping of identical work (FAE BRI BT FAEIHIO)
b)  Division of a work (@1 BT fTST)
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c)  Assigning work to appropriate persons  (Sudad SAfFTAT BT BRI AT
SIT)
d)  All of these @ )

There is no favouritism in organisation. (e # vedra &1 BT 8)—

a)  Formal organisation (@irTaRe v eA)
b)  Informal oraganisation (@FTETRe HTS)
c)  Divisonal organisation (ERINIDESREE)

d)  Function organisation (ERISCINEE)

Organisation is automatically formed (des w@a: ffifa gar @)

a)  Functional \ERIRED)
b)  Informal (CrITaTR®)
c) Formal (3fro=Ra®)
d)  Divisional \ERIMIR))

The steps of organisation process are ( Hi7e= Ufshar & HaA ©) —

a) 2
by 4
c) 8
d 6

Depends on the willingness of employees (@=nRal @ wWeeT 4R R &=ar
g) —

a)  Formal organisation CIECIRCASECE)
b)  Informal organisation (rToeTRe HTeH)
¢)  Functional organisation (ERIRICAGEGE)
d)  Divisional organisation (fammr Hre=)

In case of informal organisation authority are (3MI=TR® HTe &I gem 4
AT Bl 8) —

a)  Decentralised (faafea)

b) Centralized (@)

c)  Equally distributed GEIEREIRERIEG)
d)  None of these (T T8

Financial Management is (< ua=er ) —

El

a) Art
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b)  Science (for=)

c)  Artand Science both (@eTl SR fasm= < )
d)  None of these (S8 9 ®IE =)
Head office of SEBl isin (@& &1 9&=0 &1aied &) —

a)  Delhi (faeetl)

b)  Mumbai (F)

c) Kolkata (PTetepra)

d)  Chennai (@)

Stock exchange protects the interest of (1 fqufor f&a @ QRet HReAl 7)
a)  Investor (RENED)

b)  Company (¥=T)

c) Government (RPR)

d)  None of these CaEIRE)

The foremost stock exchange was established in (fawa # a1 ugel W=
foor o1 U= g8 o) —

a)  Delhi (faeet)
b)  London (<)
c) America (srfRen)
d) Japan (STTaT)

Analysis in Scientific management is (d=ire Yewer # fageiyor z)—

a 25%
b) 50%
c) 75%
d 30%

By scientific management consumers are (Jsf<e Yo ¥ SUATGITSI B)

a)  Not affected (P T T8))

b)  Suffer exploitation (MO BYAT B)

c)  Benefited (™ BIAT )

d)  None of these (T8 9 ®Ig 2))

There is no discipline in organisation- (e # Jrema+ &l &) —

a)  Divisional organisation (fawmfra Hre=)
b)  Functional organisation (ERISICARRISE)
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c¢)  Formal organisation (@fT=aTRe |re=)
d)  Informal organisation (@rFTETRe HTeH)

Group activities is a part of the basis of production line of .........

(STUTE Y@ WR IMeniRd AHfEd fhar i 7))

a)  Delegated organisation (TR EITST )

b)  Divisional organisation (@9 HITS )

c)  Functional organisation (BrITHS TS B
d)  Autonomous organisation (TR T3 )

The structure in which there is separation of ownership and management

iscalled ............. (ST S & AT g &= § 7T 81T § D .........
. ®Ed B) —

a)  Sole proprietorship (ToThT i)

b)  Partnership GIEERY

c) Company (¥=T)

d)  Corporate organisation (GRIECIRCE)

The capital of the company is divided into number of parts each one of
which are called ............... (@ @1 Yoit W § 61 Bl B, URd AN
R FHEd B) —

a)  Dividend (SIKGIED)

b)  Profit (™)

c) Share (arT)

d)  Loss (=)

The board of directors of a Joint stock company is elected by ...........
(T Ggad Yol HHA & FATAD HUSA Bl AT ... g1 fhar S 2 )

a)  General Public (AT ST

b)  Shareholders (3TereY)

c)  Employees CEI

d)  None of these (T TE)

In which type of company there is no restriction on the transfer of shares-
(fpe TRE &I HF-T | 3T B TR W Ufaa= T8l 8) —

a)  Public company (ATdSIS HF)
b)  Private company (T o)
c) Charted company (@ce HH)




d)  All of these @ )

100. Which form of business organisation is known as an artificial person

created by law ? (@R 16w & fa oL &I f[qu™ gRT MG v M
fdd AT ST ®) 7

a)  Joint stock company (Hgard whee HHHI)
b)  Partnership GIEERY
c) Company (epareT)

d)  None of these (T8 9 ®Ig )



